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MANAGEMENT
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  The demand curve of a monopolistically competitive firm is :
(A) Highly though not perfectly elastic

(B) Perfectly in - elastic

(C

(D

) Kinky demand curve
)

Demand curve will be a straight line

2. A decision maker has to remember the proverb, “a bird in-hand is worth two in the
bush”, while he examines :

(A) Opportunity Cost Principle
B) Discounting and Compounding Principle

Marginal or Incremental Principle

D) Equi-Marginal Principle
3.  Market with one buyer and one seller is called :
(A) Monopsony (B) Bilateral monopoly
(C) Monopoly (D) Duopoly
4.  Cardinal measure of utility is required in :
(A) Utility Theory (B) Indifference Curve Analysis
(C) Revealed Preference (D) Inferior Goods
5. In case of Giffen goods, price effect is :
(A) Negative (B) Zero
(C) Positive (D) -1
6.  Which of the following theories state that “employees make comparison of their efforts

and rewards with those of others in similar work situation” ?
(A) Vroom's Expectancy Theory (B) Adam’s Equity Theory
(C) Alderfer’s ERG Theory (D) Hertzberg's Two Factor Theory
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10.

11.

12.

13.

14.

Which of the following is a method of indicating the feeling of acceptance or rejection
among members of a group ?

(A) Mutuality (B) Simulation (C) T- group (D) Sociometry

Which of the following statements correctly describe ‘extinction” ?
When a previously reinforced behaviour :

(A) is reinforced immediately (B) 1is reinforced for a short period

(C) is not reinforced for a long time (D) both (B) and (C) above

In which of the following processes a person rejects his own feelings about the other
person ?

(A) Self-analysis (B) Projection (C) Empathy (D) Denial

Which of the following methods avoid a win-lose attitude ?
(A) Integration (B) Domination
(C) Compromise (D) All of the above

In Transactional Analysis the “I am ok, you are not ok” life position is also referred to
as :

(A) Bossing (B) Avoidant (C) Diffident (D) Bohemian

The main objective of 360° Appraisal is to bring :
(A) Subjectivity (B)  Objectivity
(C) Uniformity of standards (D) None of these

At which level of PCMM the concept of competency management is brought into
workforce practices :

(A) One (B) Two (C) Three (D) Five

The total dedication of continuous improvement so that customers’ needs are met is
known as :

(A) Theory X (B) Theory Y
(C) Total Quality Management (D) Change Management
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15.

16.

17.

18.

19.

20.

21.

22.

The Employee Stock Ownership Plan (ESOP) was developed by :
(A) Michael Porter (B) Kaplan
(C) P.F. Drucker (D) Louis Kelso

When monotony in work is reduced by giving a wider variety of duties to employees,
this is known as :

(A) Job rotation (B) Job redesign
(C) Job enlargement (D) Job enrichment

The book “HR Champions” is authored by :
(A) Mintzberg (B) J. Pfeffer
(C) M. Porter (D) Dave Ulrich

The Central Trade Union CITU is associated with :
(A) Congress Party of India (B) Communist party of India Marxist
(C) Communist Party of India (D) Shiv Sena

One of the goals of financial management is :
(A) wealth maximisation (B) hostile take-over

(C) to raise funds from outsiders (D) none of the above

If bond sells at discount, the price is less than par value and :
(A) YIM = Coupon rate (B)  YTIM < Coupon rate
(C) YTM > Coupon rate (D) None of the above

The discount rate that equates the present value of the future net cashflows from an
investment project with the project’s initial cash outflow is known as :

(A) Average rate of return (B) Internal rate of return

(C) Cost of capital (D) Hurdle rate

As per pecking order theory of capital structure :
(A) Internal equity is preferred over external debt
(B) External debt is preferred over internal equity
(C

(D

) External equity is preferred over external debt
)

None of the above
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23.

24.

25.

26.

27.

28.

29.

30.

A formal legal commitment to extend credit upto some maximum amount over a stated
period of time is known as a :

(A) line of credit (B) revolving credit agreement
(C) commitment charge (D) secured term loan

Economics realised in a merger where the performance of the combined firm exceeds
that of its previously separate parts is known as :

(A) Economics of scale (B) Synergy
(C) Horizontal integration (D) Leveraged buy-out

Macro Marketing environment refers to :

(A) Internal to the company

B) Employees and shareholders of a company
) External to the company

D) Stake holders

Environment scanning involves :
(A) Weather Forecasting
B) Studying depression in a sea
) ldentifying threats and opportunities
D) Identifying strengths and weaknesses

Product mix refers to :

(A) The ingredients used for making a product
(B) Features of a product

(©

(D)

Marketing mix elements
A group of products

Which of the following is not a stage in the new product development ?
(A) generation of ideas (B) screening

(C) market segmentation (D) commercialization

Industrial marketing involves :
(A) Business to Business (B) Customers to Customers
(C) Online marketing (D) Customers to Business

Which of the following is not included in 7 Ps of services marketing ?
(A) People (B) Products
(C) Physical Evidence (D) Public Relations
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31.

32.

33.

34.

35.

36.

37.

Which one of the following is not the type of Plant Layout ?
(A) Process Layout (B) Product Layout
(C) Fixed Layout (D) Selection Layout

News Boy problem is related to :
(A) Queueing problem (B) Inventory problem

(C) Replacement problem (D) Linear programming problem

Mini Max method of decision making is done when :
(A) the problem is under risk

(B) the problem is under uncertainty

(©

(D)

the problem is of deterministic type

the problem is under linear programming problem

Vogel’s Approximation method is used to :
(A) Study the Inventory Problem

B) Solve the Game Theory Problem
Solve the Transportation Problem

Forecast demand

The economic order quantity 4, for a deterministic demand of D amount is given by :

_2C,D
<

2CD [2(C;+C,)D
9y = o= —2—
© % c, D) % C,

(Where C; is the ordering cast and C, is the carrying cast per unit per unit of time)

(A) qy=(C;+Cy)/2 ®) %

If two dice are thrown, the probability that the sum of points is greater than 9 :

1 1 1 1
(A) 5 B) 3 © 2 ®) 7

If the independent variates x; (i=1, 2......... n) are normally distributed about a common
mean, 2, with a common variance, o2, their mean is also normally distributed about a,
but with a variance :

(A) no? (B) (0" © */n (D) o"/2
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33.

34.

35.

36.

37.
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38. The value of R 1.23 lies between :
(A) —1land +1 (B) —1landO
(C) Oand 1 (D) 0Oand o

39. Chi-square distribution is :
(A) Continuous (B) Multimodel
(C) Symmetrical (D) None of them

40. EBCIDCisan:
(A) 64-bit code (B) 32-bit code
(C) 16-bit code (D) 8-bit code

41. Which one is not the part of Porter’s five force model ?
(A) Threat of new entrants (B) Firm’s core competancy

(C) Rivalry among existing players (D) Threat of substitutes

42. Which one of the following is Not a generic strategy ?
(A) Focussed Initiation (B) Focussed Differentiation

(C) Focussed Cost Leadership (D) Cost Leadership

43. Cost Leadership Strategy is related to :
(A) Corporate Strategy (B) “SBU” Strategy
(C) Functional Strategy (D) Global Strategy

44. Who is associated with the concept that competence is nothing but ‘resourcefulness’
meaning “identifying resources when there are no resources” ?

(A) Gopal C. Pati and Rabi K. Kanungo
(B) M. Maurice and F. Sellier
(C

(D

) Evans and Lorange

) A. Martin and G. Ross

45. Who has advanced the Motivational Analysis of Organisation :
(A) D. M. Pestonjee (B) T.V.Rao
(C) Udai Pareek (D) None of the above
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44.

45.
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46.

47.

48.

49.

50.

Which of the following is not a phase in Business plan preparation ?
(A) Setting business goals (B) Locating Resources
(C) Tracing Competitions (D) Developing the Labour Market

Arrange the following five steps of small business development in the order in which
they shall occur :

(i) Survival

(ii) Success

(iii) Existence

(iv) Resource Maturity

(v) Take-off

(A) @) @ G () (@)
B) @) @@ @O @) )
© @@ @) @) O ()
(D) @) @@ @O ) (@)

The three basic approaches to ethical behaviour namely utilitarian approach, individual
rights approach and justice approach are given by :

(A) M. Coker (B) S. Berkeley

(C©) G.F. Cavanagh (D) J. Warner

Who had advanced the Stewardship Theory of Corporate Governance ?
(A) J. H. Davis et. al (B) D.R. Dalton et. al
(C) D. C. Hambrick et. al (D)

None of the above

In the four classification of Social Responsibility of Business proposed by Archie Carroll,
which one of the following is not included ?

(A) Economic (B) Legal
(C) Ethical (D) Political
-00o0-
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47.

48.

49.

50.
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